107 #== S B 3 & 2B FFFI

by

§ B3

107 #3855 32 BEH(07 267 16 p~62 18p) B F w2 2l
BB RP A PGP e P R BRA E

o REHEFRER

- AT
107 &35 fBdpd 107267 16 p(F=)31 10767 18p (- ) » =3+
3x =LY o

AT L ANGBMHR B i RUESR S RS G A FRE|R P OEFRE e

PE2 3 TRURLA 0 (S 2P MEEW I TER R GRYEL A B G A o
= "\‘Li@i‘??‘/?'l

54 1083 EAfap s AR A R FRIEY L P REEIed Lo ThIEP S
BEF LA AL ABEE3I Ee kR REYN 23
1 BEFAEEFEE L E IR

o

p# X LA 2 AT EFR(MVK) B 55T £ 3R
6/16(ik =) | *=¥5% EH% | 5 T 1 68(63-73) (T p 1.6 ) &7 12T p 18 1)
(3% 52) | # 2+ :50(45-55) A 12

g : 118(108-128) e 133
6/17(x p) | *=2% % T @ 58(53-63) 47 118
(Ew325) | # :62(57-67) A 16
e 1120 (110-130) (< p 14 ) | B 134(Fp 14 1)
6/18(3x - ) | e % T 46(41-51) & 1.0
= (e ai) | A+ :64(59-69) (L p 151) A i18(Tp 15 1)
g : 110(100-120) g 1 2.8

106 & ># T p LG 87mvk(S:43 ;5 N:44) » % RI 3H%E 100mvk(S:50 5 N:50) °
RS SiZar)

(C)BRPHFH AR ER S5 VL EH 2 p s TR 182Imvk 18 2 p A AR
16-1.8mvk: ¢ 295 % 4% #IPHE(3 T 1.6mvk~ 44+ 15mvk)> 2 p g T A
B2pM R ERERRP R B AP RAT

1. DB PR EHRa T AT o
2. MFIREBESCRACFWEESMNAL AT o

1



(Z)® FHP -
1. »7 d@Bp2P ra—"fffx*;% THORRE G ARIH R RS ERERR

VR 106 E Pl BACF R BT EHP R AT G B 20 0-24 R
?@lli@r,fi‘ybliﬁ“g_ﬂwma“f%E”[ﬁwgo
2. M
(1) w106 £#:h= &3y 3P 0-24FHFRIF R AEFIH et
PN

(2 T107&2FP &3 pHFRML LM, F 2 v > S22 > & 107 & 5=
gt R YHIL o
(Z)fef #%
1. s RCRELREHERERE- 7 F
2. ANEEIBETHEAY RFEMNL LT A > 2B HFLEDFHFER
0-5 pFa iz o

R W @ T RE A ERE
P iahe T DDA E AR
A1 sP ABRIERaGT RV B
i hnIg B iseT | ZARIFEM
2 BarmisiEks ™ BACI F RN
& PBrifhidEsT B

3. SHE BN HT R E A

B AT AdoaT
ﬁ] ERI t&-}% N «u N /FB LN —}L %";& A KE = _Hilf‘ sy u 1"‘/# N
L AR
X AN R S A
ﬁ] "%’ifia A 6 'ff’ A :_J' ﬁ ~ %.g),:‘ I:‘(‘ ‘3;‘;; ¥ J\—— AN U v 4/" /J [ T'l
3 NI L I N

(ﬂmﬁgﬁﬁﬁzw36%%iﬁﬁﬁﬁﬁF’§@—ﬁ%ﬁ@%§,%@ﬁ%29
0-24 pridgt 1 » v St 2 H B3 o

CﬂWﬁPfi%Wlé@wmwﬁ%iwm@MKﬁmﬂmemywLwam73%
F’gﬁi(Iﬁameiiﬁxf‘jﬂ— SRRE P e o 3K e B TR B PR o

(C)FAER LG LI EFAER o 106 EH4 1iE(R3 L 2 HEtw)e

(M)BI5 E7 Jadh 0 107 & % SAcp2M 5 £ 7 fadhdy s



#2107 £ & BRE Ll g ER - T4
Py | BEPFH BEHE | kpH P g A 3 iy
6. |712@ M5 ;lszﬁiwg R
6 Trsa;}é B rp L N LG Rl Adh | 1404 9 b & B E T
N R R A B L TEEEE wpesegag
2aToarag [T LE-% lowre67 163 (Dt 2 F7e s
: 7 18p »&pHs [Qe? kRI¥Rs
. | ®0-24 p% - % e
®7-12 > 5 % ;mig 287 05| Bowp i pger |
Tag ks B L PR | prgmapale s |QF T RN R
a2 (g | RAR | s s
ko, 2 t 3 it 4) 53 K E R R
6’5 ;‘ENQT%F ?;Lé__rf:r :]a'-%ﬁ"% 3];]5 FF%‘}L (F)f' =L ES
T =
17 ¢ | 024 px 34 F‘ 2 k‘«ﬁ»‘éﬁ@v B | mygmzwm 4omp
wp [OWAFRS | Ty lamars| mamaks |0 TR
rHERESR Y . " -
fowmam | GHRAs | P B00KESFED g g 4 es
%fjﬁfﬁﬁ A rr oz 3o (SR rffr#fr‘ S / ‘
CERES ey 4 BFh D ,
P L PR Bk S S (OIS S & TR
S el B A Seo 8)= %% 5 B
67 |1421p5 R 5 & |024p% 3 | T F o ¥ P 3IKI | gyraars g g o
189 [ g -Rd v |R1Lezy | 4Ty | 306kkasmsa )
F- | RIS AR | B s R A A
e (gt arw |r2R3AE B AR TR R BBt
& 1E P PN
F~ U EEFA
- RRR
(- )...gﬁi_é N2 (B 1~2 -~ £ 3)
1. 2859591102222 3 ThFL51I26L2F8222 400
BB LY 32537 FHE 2 ek :&51“1% 1102 F g2 212 -
2. HEEFIE LU BRI ERDHEC 6% F 2P F 0 17% % 3P0 17%
AP TR TR iE A G EIR A D K RS o
3. Wipicp PR OEMALELA8TOFHFL 22 FohF 5122707

R A I

g a



140.0

Hp
M
i
=)
Xt
i

il

120.0

100.0

80.0

60.0

40.0

20.0

100.0

= 1060 T

. I

LN

8 1070 T-(FR 1)
= 1078 T-(FTF)

Bl AZdiErp o

(s

10.0

80 -

6.0 -

40 -~

20 -

00 -+

—_

/\;E

I
w

ESLES

= 106015
= 1070 4.0% -

(=]

S
[

% 10.0%
8.0%
6.0% -

2.0% -

0.0% -

N

A%

=6.4%

EHES

SN EERN ELVS

= 1060iT
= 10714

B2 h=id Ay R L B2 ko

) 1=

=B , ,
106 =+ 107 =

M % 22.5 22.3

L 26.7 23.8

3 e 18.0 15.1

&3 67.2 61.2

A

P

L

3 e

&

%23 AZpiEL U E

2

. ®3x 1 ®ax
107% 106% 1074# 1064 1074

106 #
224
234
16.7
62.5

522

106 #
21.3
21.5
16.1
58.9

193 199 1740 163
175 185[  141[ 139
1210 143 10 17
489 527 422 419

107 #
19.7
18.6
12.7
51.0

106

#

22.0
23.8
17.2
63.0

3%

o Fax
107 # [106# 107 %

1970 202
209 228

131 154
5371 584




= ‘ﬁ]lﬁ5%§u
(F)REEE2529FpF2 22 > 5 7EhBi% 121
$332 I5FHI22  EohA RN 122 297§ 2

[Bd 5 [ 3 4 & (mvk)

2.5 2.0

15

10

05

0.0

N 10675 m1077F

21065 m 1074

Bl5 A~ BRE5>P 2 &(mvk)

(C)A=3ERES LI E5APES 20 {54 » 10-20 Bt £ b 4 4c 27%5h
$ > % - 5 18-19 pr2 14%(® 6) -

250000

200000

150000

100000

50000

0

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

—t— 1067 [H]5 5[] —@=— 1067 F5 Jb 5 == 1065 €[
—t— 107 H]5 F [F] —e=— 107 FH]5 1[5 == 107 FF]5 &5

B6 A=xdEgpREAPFILE



16.3%

L

41,683 §m2 >4 106 # & > 13.1% W iF & w7

FoAET RS
B R 106 &

=)
(6,798 §54 )

(

/

¥
=

£
v i 106 & R0

43.1%(-5,142 §7) »

P

11,940 472 -

7
~

,
i

i

1
P

B

£ 16,635 4%

PIRENE D g

i

’

Ty
P

Rit=Ez @

7,891 fm.

7
~

%> i 106 &

1k

i

L

F 4 45 % (7,448 §m2)

&
5.690(-443 i%) (B 7) -

2.2% > i i

BREREH-RITHFR

H —~
RS
M~
o —
i SR
|
—
._u_H_l RN
(] _—
o NN
—
N —
8 AN
—
AR
—
AR
—
SRR
—
EN ST
L1
A AR
—
AR
—
EXS SRR
—
NSNS SRR
I
I
AR RS
—
ENE AN N FTE TR
—
RN
RS TR P T TR RN
I
SRS
—
NN
]
AN
—
ANEERRN
—
M SRR
hn —
M_ﬁ AN
o o o o o (=] o (=]
=] o (=] o (=] o (=]
< & © o ©w =
— — —

g (1)

veeC
€C~CL
i1
T¢~0¢
0¢~6T
61~8T
8T~LT
L1~9T
9T~GT
ST~P1
PI~ET
El~C1
{IATT
17~0T
0T~6
68
8~L
£~9
9~9
S¥
P~E
€T
1
1.0

5324

i

% 1065E W 1075

FIRER U S - AR
%1H

1,400

1,200

!

RS

I

AR

I

SRR

—

[

I

SRR

I

fazsasiassiaas

I

R

I

AN

I

TR

e errer————]

RS AR AR

I

P S S

I

E

I

TR

e rr————

FAIEERE R R S R R

I

B e

e cccererrcemereec

R

I

AN

| e eerereee]

PRt

e

BRRRRRARRN

.

N

|

S

o]

w

e

pa

-

W

o o o o o o
S © © © o
S ®© v JF

—

g (1)

veEC
€C~CL
i1
T¢~0¢
0Z~6T
61~8T
8T~LT
L1~9T
9T.6T
ST~P1
PI~ET
El~C1
CI~TT
17~0T
0T~6
68
8L
£~9
9~9
S¥
P~E
€T
1
1.0

IRZERER

CERT SRR

=

P il

o

P
|

=il

=

*

B 7

w47

Fo (4 4)

B .

Z =%

B ,,{E’;{__

B

BENTEE S



(-)107 #4=a7 p 05 prdigfsa=t g ~ Tt & & » 11 % AQHF 50 = 2 v b skt
fbrt 3o 106 # L K ;5~24 e £ 106 £ 2 3 > R T LR o L
50 2 2 14 b =t ikt Pl 106 £ G i o

(Z)EMa 5 > 107 £ &4 p £ bk £ 106 £ % S > ik E#{ 4 > 7 Tip
#1106 £ 7 5 > 107 &= & pAmigE B A4
4 HERBIFRRe T ORISR
106-&?’5 107-{*"155’
G # 3 o

0-5pF | 5-24pF | 0-5p | 5-24pF | 0-5p | 5-24pF | 0-5p | 5-24 pF

i 102,277 | 1,596,008 | 81,872 | 1,555,721 | 94,696 | 1,703,923 | 77,116 | 1,593,739
XL R 54.5 35.7 35.6 30.7 42.4 31.3 31.8 29.3

w202
! o S571.7% 59.2% | 60.6% | 61.0% | 63.1% | 62.3% |63.3% | 61.6%
20~50 = 2
oy 18.4% 224% | 213% | 229% |18.6% | 22.1% |214% | 23.1%
50~100 = 2
W 6.3% 8.8% 8.9% 9.3% 5.6% 7.9% 7.7% 9.2%

100~200 =2
7 by 7.5% 6.8% 6.2% 5.3% 6.0% 5.7% 5.2% 4.9%
42318 200 =
: At
S T E - p(106 E % 4 p ~ 107 &% 3 p )R sk L (R 5)
~)107 Ex52 § 5 3 p A PERE S o2 gk B 106 2B F 3P o
;

10.1% 2.8% 3.1% 1.5% 6.8% 2.0% 2.5% 1.2%

(c)T e & ROR 106 #5141, 2 |50 20 22 2 ‘Bip S B3 EH 4> 50 22 1
bz R RIRE E R
#05 BT BUER A R B R
106 # % 3 % 107 # % 3 %
R At e R A e

05p | 5-24pF |0-5pF | 5-24p% | 0-5pF | 5-24 % | 0-5 % | 5-24 pF
K 65,825 | 1,533,015 | 69,016 | 1,652,935 | 64,481 | 1,348,234 | 68,560 | 1,443,169
= E R 33.7 30.4 35.9 37.8 27.7 27.5 34.3 35.9

62.6% | 59.5% |60.1% | 55.6% | 66.6% | 63.5% | 62.7% | 58.6%

20~50 = 2 ¥t

&)

222% | 24.7% | 21.6% | 233% |215% | 23.3% | 20.3% | 22.0%

50~100 = 2
b 6.6% 9.1% 8.6% 11.1% 5.7% 7.7% 8.1% 10.0%
100~200 =
2 4 5.3% 5.4% 6.6% 7.2% 4.1% 4.4% 5.8% 6.5%
AZiE 200 = 2
b 3.4% 1.2% 3.0% 2.7% 2.1% 1.2% 3.2% 2.8%




— N Ep R
107 &4 = @i 106 = > EBFR B 107 &5

T~

SRR R

EHRREFES

5 623% 0 MBS 3T b kAR Lt (107 £ R X

107 & %

F20 FEF

% 0-2%°106 =& 3 08%’}’?%?'4[15@—"@%\”

EHEF 5 0% 106 & 5 8%);

54 5 6%) - EHA

ES

1107 & %

P 3P BE X
5 0-6%) > B LA FE Rk u-+g=# & BLAp & B (107 # e 5
0107 Exp R R E B R R FE SR 106 & & gt

| F

FEXF

L&

W=

% 0-3% > 106 &
5 0%+ 106 & B 5 23%) ;
S 4RAp £ B+ (107
L 4-9% > 106 & 5 0-3%(% 4 p
5 9% 106 £ % 0%(

L o
%6 AZBpEREBIELEFRES
B 1= % 2= % 3% % 4 =
106 | 107 | 106 | 107 | 106 | 107 | 106 | 107

1 aw;qm 36 R 6% 3% 6% | 0% | 1% | _ | _
Bl le T450 hsi-y @ han| 15% 1% 4% | 0% | 0% | _ | _
B3s ™ Par kMo 4% 0%| 5% | 0% | 0%
Bl 5% T 3Bk -tk 23%| 0%| 8% | 0% | 1% | _ | _
Bl 24y dinl _ | 0% | 0% | 0% | 9% | 6% | -
B3 A b 2 4L _ | 0% | 0% | 2% | 8% | 1%
B34 A LA ks B | 0% | 0% | 2% | 4% | 3%
B 5 A b KRR _ 3% | 2% | 3% | 5% | 0%

E R ERNR

(=) a A onig B 30 A 4ap T3P 43T 40 o 2
15,648 H i ($2) °
B p 5 184

BEATE) A
(=)

Feob 252 %0 B P

-~

Y
=

107 #:3= 3 % @ B E B
BRER20 FERERS

Z1HE> BEEZER1I-3-5-K1

#2106 & 4 = i@ B 436
1032 112+ > % 3 pRIEP LR -

%7 *AT B EREREFR
o Day1 Day?2 Day3 Day4 B3t
45 g | 106 | 107 | 106 | 107 | 106 | 107 | 106 | 107 | 106 | 107
=3 = ¥=3 ¥=3 =3 =3 ¥=2 ¥-2 3 ¥-2
Bl = 3552 | 52| 17| 36 1] 15 6 5
A 3,552 6 1| 40| 18| 70| 55| 19
B3| = 3,648 | 51 1| 50 0 9 0 0
A 3,648 1] 10 4 4 21| 43| 10 436 | 184
5| & 288 | 22 0 8 0 1 0 0| - @4 | @3
At 288 0 0 5 4 9 9 0 )| )
Bl| = 336 0 0 0 0 0 0 0
® O & 336 0 0 2 6 0 9 0
& p ol 15,648 | 132| 29| 145| 33| 125| 122| 34




s 56l )b -d il B HRE 2B

— \@]31§J,\5‘;§t§—r4 r-rﬂ,L‘E’\Lgﬂ

‘5'51?2]3ﬁ Txe T v E @\106-&&%4\:24429% $2p RIS
5% % 3 p gt 12,1_ 19% » #1106 & 5 K o
::ZZZ - . - \\\\ iEEZZ 5
- .&:& §¥ - &
2,000 +24% -5% 19% | +29% -1% %
el el B e Il

ESIVN F2K %37‘: ESLVN %U{ %Zk %37‘:
SPGFEIEA 1065 mPEFEIEA 1076 S FURH 1065w TR 1074

Ei
~
>t

B8 A=mprdBER3IZ L ~dFs THr il
2 R3ALNFFEM L 2R EIELER
F PR3 AL GRS AT 106 EH e 4T 15%  § 20 EMA LI § 3
#0133 15% > % 106 & 5 M X S 6l s 2 U FRR AR TP REE

4
BK ]T;l.’( o
9,000 8,309 7,000
8,000 N 5,876 5,675 5828
6,972 1232 \ /,i;;b 6,000 =
7,000 40 o 51100

6,000
5,000

§
5,000
4,000 & &
3,000
% L] [

T I TR &\\

£ %27& %Sjt AR FLK F2R F3IK EZES
s FHLUALA 1064 = FLAEA 1074 S PEAIEA 1065w PEEAL A 1074

B9 AFXHTRBEFRIAL~FHA L »rBFEIUE

&~y BRI

4,000
3,000
2,000

1,000

- S BORIpARE YRR 2 N
AT I RBERRPHFLAEPFL RSP REF LR I3 BEPFE P
T E AT AR BB ATIRRITOR -
S RRIEFREREFERERS S
C)EER 2P RE(FRNL - ALI3E RI3ZR5FEF)FA2mgR 30445 1H
o 43t 4 15648 B o Ml - PREREZTERIZ R FR TR
(=) # &34 5P 2 F % 3 g 4 <40kph -
(=) BEHp scd ¢ SEH 2 i@ <40Kph 19 % # & >=40kph
(z) #SEH K1 3 F 3§ >=40kph 2§ % & i <40kph



ZORRFFEFEFEN RS (£ 8)
BLEEY/(P LT+ L+E) MG TEREE 107 F28T § 00 TR S 5
RO TR P T L R S BB o
#8107 &% BRI S R FREFY N REY

2 o s * eI “LAE

" B Fx | el | RIEDEFRE | (P EFFHHL+EDL)
Ble THHFIATH LR 7 39 0 15%

Clmis gt inagdin| 1 | 4 0 20%

16 M3z T=ZH2F% 0 13 0 0%

p |W3aTEPIHE 0 0 0 ;
B5m T aik i iTh 0 2 0 0%
Ble THFIRTH R 0 0 0 -
Bls Tt srigmisn 0 0 0 -
KT B () 0 0 0 ]

SLEEREEET § 0 0 0 ]

R 5 e T ek TR 0 2 0 0%

I7T /WL 375 kst B 0 0 4 0%

Plmirremaya s 0 | 5 0 0%
R34 Ma Ik 0 0 0 ]
CHRCIV A S £ 0 0 0 -

EA R = 1 - 4 22 3 14%
Bl LA 375 kil s 0 0 0 ]

Clmirraaiyd s 6 | 10 15 19%

NLEEEL L N 0| 0 0%

po| B3 EH T FE 0 0 0%
MS5A T HIak i 0 17 0 0%

P~ FEA
-~ FEPEtR

(-)A=zp= BH@X)F2 266 2> Tk p 89 i » 1 106 £ 5= (4 % 441 1% »
Tiak p 110 @)D 175 % 5 Tiak pogb 21 & o

()107 £ p T3t dci 84 (106 & p 353 121 ) # ¢ B 5 p (6/16)2 93 # 4
Sp Tz 1118

(2)107 ~ 106 == 30 A3 4 = F > 106 # £ i it dc s 18 2 ~ 107 # % if 2 ¥ s 12

4

= o

10



R HPRILR

116

LN J ;

)

EIxR

N 106ﬁﬁuﬁq:
= 107 1

SR+ B BUIFEELER

3

4

§f_

E4x

N

B1x

< 1061%¢
= 10705

P N BT A

11




R RE L A
()67 16" Mla T+ R Hr-HaTHFLI TR HAAEE -

#o wir| #a
ETIE2 " [ b

Al EgR-|&#| - & #R = =z| #
4

1% & v 3 & 2
B ‘;:‘ P P L PP L bl ot il o TS P S 2 2| 2

& e | HI| g R maE- o EE-| AR g s ga-
FE A#| Bl| e =4[ =25

& 12| =1 i B| | #o : s P B | BE| ER| R 22| Eg)] AE|as) 22 22

Bk (E2| $8| &
E2 3] 23

M1l A BER 3T RRAJETEFLA TR
(Z)6 7 16" W1t ta Rifk  TH (AT THEA TR TARIFE -

.

| - R T
i-| e | e

| mi-| e

20| i

Aal Ha =7
| lAe ha-
B S Hik
(-8 3 I ¥ (=%
EX Y -

12



(2)67 17 P 1A A Rpaf > Ro-Adi 34 T S S iEkER

13 +5h5RES - PRLA L A FREAILTEPFZ AT R

13



()67 18" W14} 3 Fitf > #L-FHh%

Pt b e gEd 28 F g g

Bl15 w=Zcegcdiphii- pRLA L S BEAILTXES AT H
()67 18 " W5 FEF o FH-AIRE B -SA T A ER -

B 16 A=t:3rdBEkis- PROAFPRERIWLETEFT LT H

14



BT EEFRA
PoRE L ME PR

‘o

Bg 0 F LM E R

<
—~

A~

§ ¥ g A

IFER 347
30
.
25 _
] 2
1] P .
15 233 3
11 1=
10 dgeie , B o o
I .
; miil IR TR
> . 11111
.. 8, sBORAGCEE OO0 £ .
01 2 3 45 6 7 8 91011121314151617 181920 21 22 23
Bl 17 A== B2l T A= ot

P A I R

ERFREIAF R EFIHU)ED LR B T4% B S FE s B 17%
- 58,2, 1%_ #EH 3, 2FF 2ERYES
ﬁﬁﬁlljgiﬁ, 1% +E= =5 0% %%Fﬁ;ﬂ;?@, 1,
INEE-E3E, B, 1,0%
4, 2%
INEEE-,
3.1% INBEE,

46, 17%

BIES

18

-
A

~ LI IR pE
A= BRI A B 1 B 2 266
F 25~30 4) o

‘b

Ao~ Eibr B
BRI EAfT - LG F
RIS EEY LT

72

£

N 1 T

Ttk T0E EAJERER 20.8 4 (R T 0T ki @

ROREFEAEITR O AARS NG 2B =
 F A B F R B B R T o H Y

)
=

Sk 18> W10k A dE > Yy RE&Er 2B FE L o

15



39 ABBEUELT &Y B HA(E )

¢ B
Py
- = = z I
67 16 p 35 6 0 0 0
67 17 p 35 2 0 0 0
6* 18 p 30 2 0 0 0
83t 110 10 0 0 0

K~ BHaEi

T

RS 2 0107 Ex3T S By @ R T5id § 102myk s & 106 # == i BT

a3 £ 113.4mvk 5 i< o

(=) 107 == 3 2@ ip > G B FEFREE(LS B 20 30 A4 p T iap
@40 22 L1 H 0 43t 5 15648 1) P Bt G 184 42 #2106 £ 4 = i
BA436 fepe > 252 % B Y AP 2 5 2P FREKF 1032 1124 % 3P R
EPELE S ﬂ\:aﬁlfxﬁﬁ” > R BT 106 & R o

(3)107 Erhripipdr 106 v ERFREE 107 £ P FESF L 0-3% 0 106
£ % 6-23% '/]EISQTEB/;%,J Fe-dTRAp £ B+ (107ﬁ§}§ﬁ % 0% > 106 & B
2 23%) ;107 £5 2P FEFL 0-2%0106 % 5 0-8% > U5 % T 3k k
BT RAR £ B A (107 E 2 5 5 0% 106 # 5 8%); 1 107 £ % 3 p % ¥ 5
4-9% > 106 # % 0-3%(% 4 P & 0-6%) > ™ B 14 b 24k ; se-5 % ko siqp £ &=
(107 2 %% F 5 9% > 106 £ 5 0%(% 4 P 5 6%)) - %A = » 107 35 @ &
TR R R S 106 £ < G o 4 AL o

() 5 BLATH-F51t 2B 5 » SV RE 3§~ E:‘;‘%é:'z(ﬁb)x)i‘ R
% p 106 & 8 % 24-20%(4-15%) 0 % 2 p EPE LR 0 % 3 p Pl 106 E F
g 1% 12-19%(13-15%) > Fm | h R r v R ELH R g ,jc;ll-mﬁ BATR o

(I) =84 p WO B2 EI 47 F 16.3%% A2 > #2106 &8> 43.1% > i

BLFRI L BgmES  TRERN T 45 %% AR > #1106 £ 5.6% -

() d= B T5F AT 20.8 4 M fri& T 329 25-30 4 0 & b #g i 2R E
RhirFRAEREFIZ > FHPEYBAFRREBRL | FR -

(=) AR BFP L FRAXFRERIFTEGZ T 5 B mu; o N T A
X xR AR DRE L RFRYEN 7 R AL BRI S

(M) A G ERE SR EE R PFE 5§ iwzﬁ)ﬁﬁi‘é’ Tl 7 4 B
ot o DR staMmE 2 BB LB Eenr H FEL -

gz P o BFRBEIFF 2GR I PR EHRE VIR S K o

16



(=) T EATHEIREXXFAARLE ft‘agﬁsgﬁp;m; v 5Bl B R
A7 3 A A RS BRFFTRE S 6l 2 L iR AT Ry e
(=) YRS ARz s dmm F1X §F B R BR 106 # 27 % > R ka i mhe

HEFF RS 2 A F o I F R il B R 5 2 2 F AT

=3 o

17



